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SECTION A
SOURCE MATERIAL FOR USE WITH QUESTION 1

1. Organic Farm Shop has three departments: greengrocery, bakery and The Café. The following
balances were extracted from the books for the year ended 31 December 2012:

£

Revenue:

Greengrocery 190 000

Bakery 96 000

The Café 81 000
Inventory 1 January 2012:

Greengrocery 8 150

Bakery 4700

The Café 850
Purchases:

Greengrocery 126 000

Bakery 60 500

The Café 40 250
Wages:

Greengrocery 32 000

Bakery 21 000

The Café 16 000
Manager’s salary 18 350
Electricity and gas 9 820
General running expenses 2750
Rent (for 9 months) 8 100
Refurbishment costs of The Café 15 000
Non-current assets at cost:

Equipment 20 000

Fixtures and fittings 10 000
Provisions for depreciation:

Equipment 8 000

Fixtures and fittings 2000
Trade receivables 32 000
Trade payables 46 870
Bank 43 000 Dr
Capital 60 000
Drawings 16 800
Provision for doubtful debts 1 400
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Additional information at 31 December 2012:

1.

7.

Inventory:
Greengrocery £9 450
Bakery £3 600
The Café £1 100

During the year, goods were transferred to The Café from the other two departments.
The value, at cost, of the transfers was: Greengrocery £5 700, Bakery £4 300.

General running expenses prepaid £250.

The refurbishment costs of The Café consisted of new fixtures and fittings £10 000 and
redecoration £5 000.

On 1 December 2012 the owner of Organic Farm Shop purchased the shop premises from
Global Property for the purchase price of £250 000. On the same day a 6% Bank loan was
received from Ascot Bank for £200 000, repayable on 30 November 2022. The Bank also
charged an arrangement fee of £4 250 for the loan. No entries had been made in the books to
record these transactions.

Depreciation is to be charged on all non-current assets owned at the end of the year, on the
following basis:

Shop premises No depreciation

Equipment 30% per annum reducing balance method

Fixtures and fittings 10% per annum straight line method

A debt owed to Organic Farm Shop of £800 was considered irrecoverable. A provision for
doubtful debts is to be maintained at the rate of 5% on the remaining debts.

Required:

(a) Prepare the:

(1) Journal entries to record the purchase of the shop premises in 5. above. Narratives are not
required

(6)

(i1) Departmental Trading Account of Organic Farm Shop showing the profit/loss of each
department for the year ended 31 December 2012

@®)

(1i1) Statement of Comprehensive Income for the business as a whole for the year ended
31 December 2012

(16)
(iv) Statement of Financial Position at 31 December 2012.
(14)
(b) Evaluate the owner’s decision to purchase the shop premises as an alternative to renting.
®

(Total 52 marks)

Answer space for question 1 is on pages 2 to 7 of the question paper.
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SOURCE MATERIAL FOR USE WITH QUESTION 2

2. The following balances were in the ledger of Arpan on 1 January 2012:

£
Sundry expenses 600 Dr
Premises repairs 250 Dr
Rent receivable 300 Dr

The following were the transactions for the year ended 31 December 2012. All payments and
receipts were made by cheque:

1. Sundry expense payments:

£
14 May Paid 500
30 October Paid 900 for the six months to 31 March 2013
2. Premises repairs payments:
£
8 January Paid 450
1 April Paid 900
18 August Paid 875

On 31 December 2012 it was estimated that £340 was owing for premises repairs.

3. Rent receivable:

£
6 February Received 1200
26 June Received 900

The rent receivable for the year was £1 600.
Required:
(a) Explain the meaning of the debit balance on the Rent receivable account on 1 January 2012.
(b) Prepare the following accounts for the year ended 31 December 2012, including the approprig‘:e):

transfer to the financial statements:

(1) Sundry expenses account

“4)
(i1) Premises repairs account

C))
(i11) Rent receivable account.

C))
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On 1 January 2012 Arpan had the following additional balances in his ledger:
£
Machine at cost 36 000
Machine — provision for depreciation ~ ?

All machinery was purchased on 1 January 2010 and has a residual value of £2 000. Arpan has
depreciated his machinery over a five-year period using the straight line method.

He has decided to change his method of depreciation to 25% per annum reducing balance, backdated
to the date of machine purchase. The change and adjustment are to be recorded in the Statement of
Comprehensive Income for the year ended 31 December 2012.

On 1 April 2012 a new machine was purchased:

£
Cost 8 000
Installation 1 600
Staff training 2 000
Annual machine insurance 400
12 000

He charges a full year’s depreciation on machines in the year of purchase.
Required:
(c) State one accounting concept which:

(1) supports the change of depreciation method proposed by Arpan
(i) does not support the change of depreciation method proposed by Arpan.

(C))
(d) Distinguish between capital expenditure and revenue expenditure.
(C))
(e) State, giving your reasons, whether each of the following is capital expenditure or
revenue expenditure:
*  Machine installation
*  Annual machine insurance.
“4)
(f) Calculate, showing clearly all workings, the:
(1) adjustment required to the provision for depreciation on the machines to
31 December 2011 to account for the change in depreciation method
(i1) depreciation charge on all the machines for the year ended 31 December 2012.
®
(g) Prepare, for the year ended 31 December 2012, the:
(1) Machinery account
(&)
(i1) Machinery — provision for depreciation account.
)
(h) Evaluate Arpan’s decision to change the basis of charging depreciation on machines
from the straight line method to reducing balance method.
®

(Total 52 marks)

Answer space for question 2 is on pages 8 to 16 of the question paper.
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SOURCE MATERIAL FOR USE WITH QUESTION 3

3. Xevena commenced business on 1 January 2012 buying and selling goods on credit. She commenced
business with fixtures and fittings £2 000 and bank £10 000.

She has little accounting knowledge, but has prepared a draft Statement of Comprehensive Income
for the year ended 31 December 2012:

£ £
Revenue 110 000
Less
Purchases 103 500
Less Purchase returns (2.300)
101 200
Less Inventory (at selling price) (20 000)
(81 200)
Gross profit 28 800
Plus other income:
Sale of fixtures and fittings 1200
Rent receivable 1 000
31 000
Less expenses:
Carriage of goods 3 600
Rent and rates 4 000
Wages 6 000
General running expenses 4550
Purchase of fixtures and fittings 2 800
Purchase of motor van 9 000
(29 950)
Profit for the year 1 050
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Additional information:

1. Revenue included goods with a selling price of £2 000 sent to a customer on ‘sale or return’.
On 31 December 2012 the customer had not advised an intention to keep or return the goods.
The transaction had been recorded as a credit sale.

2. Xevena used a 25% mark up on cost throughout the year.

3. Half of the fixtures and fittings brought into the business on 1 January 2012 were sold during
the year for £1 200. Additional fixtures and fittings were purchased during the year.

4. Part of the premises were sub-let on 1 July for a rent receivable of £1 000 per 3 months.

5. One third of the carriage related to collecting purchases and two thirds to deliveries to
customers.

6. General running expenses included £750 prepaid, but did not include £470 owing.

7. During the year Xevena paid suppliers by cheque £93 030 and received a discount of £1 870.

8. Other balances on 31 December 2012:

£
Motor van (at valuation) 7 500
Fixtures and fittings (at valuation) 3400
Trade receivables 12 870
Trade payables ?
Bank overdraft 18 450
Drawings 4 800

Required:
(a) Explain the following accounting concepts. For each concept give one example from the draft
Statement of Comprehensive Income prepared by Xevena and from the additional information

given, where the concept has not been correctly applied:

(1) Realisation

3)
(i1)) Accrual (matching)

Q)
(111) Going concern.

3)

(b) Redraft the corrected Statement of Comprehensive Income after taking into account the
additional information given for the year ended 31 December 2012.
(14)

(c) Prepare the Purchases Ledger Control Account, calculating the trade payables balance at
31 December 2012.

(6)
(d) Prepare the Statement of Financial Position at 31 December 2012.
(15)
(e) Evaluate the use of accounting concepts when preparing financial statements.
®)

(Total 52 marks)

Answer space for question 3 is on pages 17 to 21 of the question paper.
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SECTION B
SOURCE MATERIAL FOR USE WITH QUESTION 4

4. Molara commenced business on 1 January 2012 with inventory £12 000 and bank £25 000. She also
had a five-year 8% bank loan of £15 000 and trade payables of £3 000.

Her objectives for the first year of trading were to:

Make a gross profit of £0.20 in every £1 of goods sold
Have a profit for the year of £15 000
Ensure that at the end of the year the business has sufficient liquidity.

The following information is available for the year ended 31 December 2012:

1. Revenue (sales) £140 000, gross profit £36 000.
2. Purchases £119 000.
3. Non-current assets purchased £15 000 with £3 000 charged as depreciation.
4. Other expenses paid including bank loan interest, £22 000, of which £2 000 was prepaid.
Other expenses accrued were £1 000.
5. Drawings £8 000.
6. Other balances at 31 December 2012:
Trade receivables £7 000
Trade payables £10 000
Bank £1 000
Inventory ?
Required:
(a) Explain the term profitability.
Q)
(b) Prepare the Statement of Comprehensive Income for the year ended 31 December 2012,
showing clearly the:
(1) value of the inventory at 31 December 2012
(i1) profit for the year.
(6)
(c) Calculate the percentage return on capital employed for the year.
3)
(d) Prepare the Statement of Financial Position at 31 December 2012.
©)
(e) Calculate the:
(1) current ratio
(i1) liquid (acid test) ratio.
(6)
(f) Evaluate the success of Molara in achieving her financial objectives for the year.
“)
(Total 32 marks)
Answer space for question 4 is on pages 22 to 26 of the question paper.
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SOURCE MATERIAL FOR USE WITH QUESTION 5

5. Fahl Manufacturing has a machine shop producing products for the building industry. The machine
shop contains six machines, each producing a different product.

The following information relates to one of the machines, Machine 107:

*  Purchased on 1 January 2011:
Cost £90 000
Delivery £2 000
Installation £8 000
*  Depreciation is charged at the rate of 25% per annum reducing balance method
*  The machine shop operates for 40 hours per week for 50 weeks per year
« It is estimated that for 75% of the time Machine 107 is producing products for customers. The
remainder of the time is idle time
*  Machine 107 uses Skw of power per hour when operating, at a cost of £0.50 per kw
*  Floor area occupied by Machine 107 is 200 sq m.

Additional machine shop information:
*  Machine shop manager, salary £18 000 per annum

*  Machine cleaner, salary £12 000 per annum
* Heat and light £6 000 per annum

*  Number of machines 6

e Number of machine operators 9

* Total floor area 1 000 sq m.
Required:

(a) Calculate, for Machine 107, for the year ended 31 December 2012, the:

(1) total overhead cost

®
(i1) overhead cost per hour of operating Machine 107.
C))
(b) Explain the term labour productivity.
C))

Machine 107 requires one machine operator who is paid on a daywork basis and works 40 hours
per week for 50 weeks per year. The rate is £6 per hour and output for the year is 2 400 units.

It has been proposed that the machine operator of Machine 107 should be paid by a bonus scheme
in future. The two alternatives are:

Alternative Option 1 Payment for each unit completed. The rate would be £3 per unit. Output
for the year is estimated to be 4 800 units.

Alternative Option 2 A bonus consisting of an hourly payment of £3.50 per hour for all hours

worked, plus £1.50 per unit produced. Output is estimated to be 3 600
units.
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Required:
(c) Calculate, the labour cost per unit, for the following three payment options:

(1) Current daywork payment

(C))
(i) Alternative Option 1
2
(ii1) Alternative Option 2.
(C))
(d) Identify the most productive of the three payment options for Fahl Manufacturing.
2

(e) Evaluate, from the perspective of Fahl Manufacturing, the use of a bonus scheme for
remunerating the operator of Machine 107.

“4)

(Total 32 marks)

Answer space for question 5 is on pages 27 to 29 of the question paper.
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SOURCE MATERIAL FOR USE WITH QUESTION 6

6. Taabu is in business buying and selling goods on credit. The following information relates to her
customers’ accounts for the month of December 2012:

1. Balances at 1 December :
Trade receivables £23 500
Provision for doubtful debts £1 450

2. During December 2012:
Cheques received and banked from trade receivables £32 400
Discount allowed £820
Credit sales £38 000

3. During December, Taabu was informed that one debtor, Taal, would not be able to fully pay his
debt of £350. A payment of £0.40 in the pound was made on 31 December 2012, the balance

of the debt being irrecoverable.

4. A debt owed by Kaab £700, which had been written off in July 2011, was received in
December 2012.

5. On 31 December 2012 a schedule of debtors was prepared and the provision for doubtful debts
was calculated as £1 375.

Required:
(a) Explain:

(1) the term a schedule of debtors
(i) how the schedule of debtors would be used to calculate the provision for doubtful debts.

(6
(b) Prepare the Journal entries, including narrative, recording the bad debt recovery from Kaab.
(6))
(c) Prepare, for the month of December, the:
(1) Bad debts account
(&)
(i1) Bad debts recovered account
(C))
(iii) Sales Ledger Control Account showing clearly the balance of debtors at 31 December 2012.
(7
(iv) Provision for doubtful debts account.
(&)
(d) Evaluate the use of a provision for doubtful debts account by Taabu.
(C))

(Total 32 marks)

Answer space for question 6 is on pages 30 to 33 of the question paper.
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SOURCE MATERIAL FOR USE WITH QUESTION 7

7. Martina and Naju have been in partnership for many years sharing profits and losses in the ratio 2:1.
They decided to close the business on 31 December 2012. The partnership assets and liabilities at
31 December 2012 were:

£

Premises 60 000
Motor vehicles 14 000
Fixtures and fittings 9 400
Inventory 18 700
Trade receivables 12 400
Trade payables 10 000
Accrued expenses 1100
Bank loan 10 000
Bank overdraft 400
Capital accounts:

Martina 50 000

Naju 40 000
Current accounts:

Martina 4 400 Cr

Naju 1 400 Dr

Additional information at 31 December 2012:

Premises were sold to Highton & Co for £65 000.

The partners took the motor vehicles at valuation: Martina £4 500, Naju £7 000.

Fixtures and fittings and the inventory were sold for £21 000.

A bad debt of £400 was written off the trade receivables and 2.5% cash discount was allowed
on the remaining debts.

Accrued expenses were paid in full and trade payables were paid less 2% cash discount.

The Bank loan was repaid.

Dissolution expenses were £2 700.

A settlement cheque was paid to each of the partners from the bank account.

Eal ol

NS
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Required:

(a) State two reasons why a partnership may dissolve.

C))
(b) Explain how the provisions of the 1890 Partnership Act apply to partners’:
(1) salaries
(i1) interest on loans.
C))
(c) Prepare, at 31 December 2012, the partnership:
(1) Dissolution account
®
(i1) Capital accounts of Martina and Naju
(C))
(111) Bank account.
(7
(d) Evaluate the need for a partnership agreement.
C))

(Total 32 marks)

Answer space for question 7 is on pages 34 to 36 of the question paper.

P42221A 13



BLANK PAGE

P42221A 14



BLANK PAGE

P42221A 15



BLANK PAGE

P42221A 16




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




